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INSTRUCTIONS TO CANDIDATES

This question paper booklet consists of THREE Sections A, B and C.
Sections A and B contain 30 multiple choice questions each.
Section C contain 40 Multiple choice guestions.

Clearly write yvour Hall Ticket' Number in the space provided on the
question paper booklet (if necessary on the OMR answer sheet) without
corrections or overwriting. If any correction is made, get it certified by
the invigilator.

You are prohibited from writing your name or Hall Ticket No. on any part

of the Question paper booklét or on the OMR answer sheet except in the
space provided.

No paper should be detached from the question paper booklet and it
should be returned to the invigilator along with the OMR answer sheet,

You are supplied with OME answer sheet for answering the questions.

- Before vou start answering, please read the instructions given in the OMR
answer sheet.

Do not toill/mutilate/scribhble the OMR answer sheet.

For answering the questions darken the appropriate circle completely
with HB pencil only.

If you wish to change your answer, erase already darkened circle and then
darken the appropriate circle.

Do net make anv stray marks/scribble on the bar code of the OMR answer
. sheet.

Any rough work should be done in the space provided at the end of the
guestion paper booklet.
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(Test No. 04)
Test Name : CHEMISTRY

Time : 90 minutes Maximum : 100 marks
Answer ALL questions.

Each question carries ONE mark.

SECTION A

1.  The Bond angle in IF7 Molecule is (are)
[F7 e£309)65°0 206 5% (§%s70en)

(a) 90° (b)y 90° 72° () 90°% 60° (d) 51° 26°

2. Which one of the following yields acetylene on hydrolysis?
508 T0S° B 2o IS’ VDS DELSONHS?

(a) BezC (b) S1C (c)~./Ca Cs (d) AlsCs

3.  The compound of Boron having similar structure like Benzene

Bozs DoYEIIN Ko H0°m FDRBHH

(a) Borazine (b) Boric acid
AN T3 1) £°05700

(c) Copper meta Borate (d) Borazole
5P50 ATl 0 5°6E°S

4. Which of the following oxides of chlorine is red oily liquid?
DI DO JIBD |ED30MPR0E) §700 Baog), e5HE

(@ Clz0 (b) Cl 02 (c) ClzQs (d) Clz2 Oy

9.  The substance formed when Peroxo disulphuric acid on hydrolysis gives

D05 B SernBsrnan e 85 DoBIIPE NS

(a) Soo (b) H: Sos (c) H28:204 (d) H:= Sog
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6. The nature of C — M bond in organo metallic compound is
£835 &' DARTH0S° C — M 20045 H5arrddu
(a) lonic
eI RE 23045000

(b) Covalent
maArredHcl 2odsaw

(¢) Coordinate covalent
DRSO MBI 2045500

(d) Covalent with some Ionic character
508 eaiimDE Jeeran o d5odioresdoly aodShao

7. Identify the compound which is not organometallie

B8 TR 58)D S5 SAEdnn 5208

(a) CHs: Mg Br (bY -~ CH3 Li
(¢) CHz0O Na (d) ~ (CzHs)2 Zn
8. Oxygen is paramagnetic because it contains

3538330 DO 20,08 SU%Q) (366)050e05 Ko SPEe30

(a) Three unpaired electrons with parallel spins
2.8 8%S° Faossolie Su5cd 5d E3°ED NEASRSEEY

(b) Three unpaired electrons with opposite spins
HgH0E B3S” |PDo0He DI a3 KD Jogroen

(c}) Two unpaired electrons with parallel spins
28 8%S° pidomoiio Bodd a3 KD O FPR0eD

(d) Two unpaired electrons with opposite spins
505 QRS |PDoeoie Do esdh EI°ED DO TRIED

9, The Bond order of NO molecule is
NO ssg203) G3005), 206 1500200

(a) 2 (b) 2% () 3 (d) 3%

10. Which of the following is strongest acid?
Bo8 T0S" 208),0 weRR esddw

(ay - HC1O (b) HCI O (¢) HCl Os (d) HCI O4

(Test No. 04) 4
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11.

12.

13.

14.

15.

Debroglie equation is

&(25%) RHESeE

I::El} ;II.. = —h— l:h} l = ﬂ
mu h

(¢) A=hmu (d) A= E

n

Simultaneous determination of exact position and momentum efan electron is
2.8 ;:trl_gs ﬂmﬁb mﬂmﬁ@a%ﬁ Eadaalrd a8aia Lﬂaﬁimm s E"E,M::Ef:'a Elg::mu:iwm

(a) Possible
s

(b) Not possible
ARSI

(c) Some times possible and sometimes impozsible

57 :}Eﬁﬁﬂﬁﬂﬂﬁs ariiga10 0Baiu B9 ﬂﬂﬁﬁﬁﬂéﬁﬁ‘ @'ﬁl:';inﬁ'ﬁa

(d) None of these
© @ JDdiu )

Which of the following compounds exhibit Highest acidic nature?

508 T°S" 2) SARTDHN BIRY s SIS0 (5656)08080?

(a) CHs(Cl (b) CH: OH (c) HC=CH (d) H2C = CH:

Which of the following eyclo alkane is most stable?
BoB P, &8),006" eBsBS LEBGHD Kod

(a) Cyelo propane (b) Cyclo butane
Ea_Erf BEDD }:J_Eﬁmré&ﬁfﬁ

(¢) Cyclo pentane (d) Cvelo hexane
S Dodld 8 8D

Homolytic fission of C — C bond results in the formation of
C - C 20820 P50 29y D0833pE 28658 I872

(a) Carbanian (b) Carbon atom
ST 58yS SBHTED)
(¢)  Carbonium lon (d) A free radical
5*6y0aho edsro T (DBIEE
5

www.eenadupratibha.net

(Test No. 04)



Downloaded From www.knqw{gw\_té@ﬁghlhw.pgmpﬂ@p&net

16. Phthalic anhyvdride + Benzene ALELY sk HySoy . - dpoaw 8 The
compound C 1s

T8 ISR » BodS M, A S, p I | g C ed

ARRTHE?

(a) Naphthalene (b) Anthracene
DO es0[HnS

(c)  Anthraguinone (d) Naphthaguinone
e30|58¢3 » T8 ™

17. The compound that is more reactive towards electrophilic substitution

JoE D8 BHESHS” eBgHE HoTgBOB o SDRTIIN

(a) Toluene (b)Y Penzene
59D BodS

(¢) Nitrobenzene (d) - Benzoic acid
DS Do BoF ansTHHw

18. How many chiral carbon atoms present in glucose molecule?
ﬂﬁﬁiﬂ Eﬂma‘g}tﬁﬁ 255 E‘ﬁﬂ.ﬁ ST RS ‘ﬁﬁamé

(a) 4 (b) 3 e) <2 (d) 1

19. Which of the following groups has the highest + | effect?
808 TRES" eB:fE + 1 [H7Pddn e S2ordrin 287

(a) CHa- (by CHs: CH:-
(c) (CHs)z CH - (d) (CHzs)s C —

20. Elimination reaction generally occurs with the formation of

SESTRLen B Sdurtirave) SoRodad H8565° 2858

(a) onesigma bond (b) one p1 bond
2.5 AT 0GR 25 D OGN
(¢}  one sigma and one pi bond (d) None of these
2.5 :'i':-r'r'*é 20850 2.8 P 2odshw 2D DA 5o
(Test No. 04) 6
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21.  Whach of the following cannot exhibit electromeric effect?
508 TVS” 2D JOF 068 [HerBHody (56805892

(a) Alkenes (b) Aldehydes
e38) Dew addirEen

(¢) Ketones (d) Ethers
2e5°5en Sa5bew

22.  Which of the following exhibits Tautomerism?
08 77265° eeST A0Bzsa0m Lﬁﬂia‘aoﬁ:ﬂ 287

0 CHe
(a) @"E@ w Loyt

- )
¥ b Y,

23.  When Phenol is distilled with Zinc dust the main product is
PSR 2208 BrERnd” gt BV D8E Hemd SgH0

(a) Biphenyl (b) Benzene
2 Pod BHoeto

(c) Benzaldehvde (d) Phenolphathalein
Boewrg)ars PO

24. Anthracene “; E;-LEL’ A. The compound A is
eco@dS V205190 A g A & B0
5007 C

(a) 1, 4 — Naphtha quinone (b) Phthalic anhydride
1, 4 — oricSD 8 ddir @&

(c) Phthalic acid (d) Anthra quinone
FrOsTi000 e30|B8cS ™

25. Which one of the following is an Ideal gas?
1508 TS eststh) IrAs0D) B2

(a) Hydrogen (b) Nitrogen
PIE2N DS S

(cy - Carbon dioxide (d) None
S8 oA & B850

W.Eenﬂduﬁrﬂtibhﬂ.net (Test No. 04)
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26. When Helium is allowed to expand into vacuum Heating effect 1s observed.
This 1s due to the fact that

oS Tai0D) BIPHEHNEG"S TS D0ONPE GIETB DEIHOM. DS s*Een.

(a) Helium is an Inert gas
rdHoHS el TraiuD)

(by Helium 1s a Noble gas
Srdafso &), J%m

(¢) Helium is an ldeal gas
Srdafss estSy T30

(d) The Inversion temperature of Helium is very low

OS> 26°%% &3NS Do BD

27. Strong Intermolecular forces exists in
BIaDR S0B8 eE) EEEE‘HEJE’.‘FEU Bos &)

(a) Gases (b) lLaquids
TeainDen [Goa0e)
(¢) Amorphous solids (d)  Crystalline solids
ﬁeﬁﬂﬂﬂg ':,’n.‘-ﬁ;’}ﬂ?ngmm sbgumﬁ ;‘u:fuﬁm"gﬁn
28. The number of crystal systems known are
I:qjeﬂﬂ E‘J;Sﬁgm D7) 8570 |
(a) 7 (b) 8 (c) 6 (d) 4

29, In a =solid lattice the cation has left a lattice site and is located at interstitial
position, the lattice defect 1s

28 ISTY QS erosand” af Swalre @res FISw Wod Y eenobod
%ﬁﬁmﬁ*mﬁ AR50, S el ST5an 287

(a) Interstitial defect (b) Vacancy defect
e9eTHOBTPE & 8 28 & w5

(c) Frenkel defect (d) Schottky defect
osS S5hw eS8 55550

30. The solubility product of a saturated solution of 2.50=107" M Ag, So, is
2.50x10° M Ag, So, S0 @Hea00 Bool), [ERHEI0LT ©gH0

(a). 62.5x107° by 6.25x10°°
(c) 15.625x107" (d) 3.125x10°°
(Test No. 04) 8
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31.

32.

343,

34.

SECTION B

Among the transition metals + 8 oxidation state 1s displayed by
3858 S°TH0eE" + 8 e5)588 JAD (586)032

(a) Os. Ru (b) Os, Fe (c) Os, Mn (d) Rwu, Rh

The Metal Ion having the least Magnetic moment is
HEY),» ALY, 08H 08 e HORDS S o eairTe

(a) Fe* (b) Co** (¢) Ni*t (d) Cu**

Zirconium and Hafnium are having same Atomie radii. This is due to

267,000, FEPI0He S8IIED RSB0 DS 2583, 822 se8mdw

(a) Both are d-Block elements
Aodir d*E.E:EJ SATCEISTEL)

(b) Both are f-Block elements
BoGT® f-2rL) D0ICO5e)

(c) Both belong to the same group
Bode a3 |y DoTresten

(d) Lanthanide contraction
erotiab Ho5 NHD

The colour of Sm3* 18 similar to that of

Sm* escirrn S 1306 T3S HIE" Kok DEEH EHR doewod

(a) Pr* (b) Pm?* () Dy* (d) Cu®

A substance is paramagnetic to an extent of two unpaired electrons its spin
only moment in Bohr magnetons 1s

2.5 S0 ©0R,08 ST PSS Do 2,068 JOFTHO GRYIPE TR Y VOIS
gosa §°6 doeijeraes” Job?

(a) 2.11 (b) 2.32 (c) 2.54 (d) 2.83

9 . (Test No. 04)
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36. Mond's process 1s used in the extraction of

Aok dgrRod” Dy, Bodaas

(a) Cu (b) Hg (c) N1 (d) U
37.

Among the following f-Block elements which exhibits stable tetra positive
oxidation state

BoB f-27% SorosmeS” REBGLD +4 &858 DA (5E580BE IE?

(a) Ce (b) Pr () Nd (d) Th

38. A transition element X has a configuration [Ar]3d’ in its + 3 oxidation state.
Its Atomic Number 1s
+3 e5)88m 286° X &3 56589 Huref JoFe dudsn [Ar]3dY eowd o
ST ER) ﬁﬂqﬂé
(@) 25 (b) 27 (c) | '28 (d) 30

39,

The separation of Lanthanides in Ion exchange method is based on

©AiT V00D IFDS® BogPEedo DI g0 B errdsd 98
(a) Size of unhydrated Ions

oS ediroe S8Sreh
(b) Bascity of the Hvdroxides

WPIES)Ee TERETSE

(¢) Size of the Hydrated lons
es8 e0ireRe SHBA5ea

(d) The solubility of their Nitrates
T DEeSe [rHBahHn

40. Sulphide ores are concentrated by
RBHE TrEDHOM MES DoBoD ITTHH

(a) Magnetic separation (b) Lewvigation with water
050,08 DETesd Ded [STTEH06" dodoe
(c)  Electrolysis (d) Froth Fluotation
DS BENE DEHH 76 PrEIBO DHTHHL

(Test No. 04) 10
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42.

43

44.

Oxidation of secondary aleohol gives
VKO e3e),afennd es8yESE DRRNEPED AGES

(a) Aldehyde (b) Carboxylic acid
EJQ':{E Tﬁggtjﬂ?:ﬁrg‘::ﬂ
(c) Ketone (d) Ester
S¢5°® A6

In which reaction both self oxadation and self reduction are invelved?
BoB B85S’ BIS® HIO%0 e35)58E30, B0 FODHESEI0 7

(a) Perkin's reaction (b) Cannizaro reaction
200 B 326" D

(¢) Wurtz reaction (d) Wolf-Kischner reaction
QB 565 S°&)-85:6 u5

Alkyl halides on treatment with moist silver oxide produces
&9),S rghod BAM SR degd 8HES' B ToB0aHNP BB

(a) Carboxylic acid (b)  Ester
5°0%8)95 esao 36

(¢) Alcohol (d) Aldehyde
Esﬂbfﬁeg H@?{E

Reaction of Ethyl alcohol with cone.H2So4 at 140°C gives
PO @O IFORD ME SeuT) P5NSNE 140°C &S HE D85 ToB0dDgPE

bﬂﬂ&ﬂ?

(a) Ethylene (b} n-Butane
26805 n—m.]"'ﬁéﬁg

(¢) Acetaldehyde (d) Diethylether
derdirs 2apS Heib

In which reaction a combination of CuCl: and conc.Hel 15 used?
D 58S Cullz 508050 s Hel 580 a5@r Re87

(a) Kolbe's reaction (b)  Riemar-Tiemann reaction
Se)y D8 B206-800 D8
(c) — Sand Mayer’'s reaction (d) Friedel-Craft's reaction
= £
ol A0S el Lﬁf‘iﬁ-@*ﬁ iy
11 (Test No. 04)
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46. The condensation reaction between two ester molecules in presence of a
stronghase 1s named as

2.5 2ORN T8 SR0Z0S” 3ot IPD @D DSy B8R HoHD DG

(a) Reformatsky reaction (b) Claisen condensation
E#Eﬁ&eﬁﬁ:’b B8 20000 HOFVHHHD

(¢) Hofmann reaction (d) Aldol condensation
BB o] E:HE.EE ORI

47. Aldol condensation will not take place in
esered 50HHHL (808 TS BIS” BENGL

(a) H CHO (by CHs CH: CHO
{c¢) CH3;CHO (d) CHaCO CHs

48. Acetic acid exist in adimer state in Benzene due to
B020e" eRe3570H0 B¢ @ENERVMT Moy, B8 5°Bed)

(a) Condensation reaction (b) Hydrogene Bonding
DOORD B I E e 20600

(¢) Presence of carbonyl group (d) Presence of a-Hydrogen
Eﬂﬁiﬂ@ﬁ_ AL SR Ta e A TR a-2FE N GOt

49. When sucrose is heated with conc.HNOs in the presence of V205 the product

formed 1s

V205 5:505065° 5oE°E md HNO: 8 5& D55l 8eds

(a) Sucrose Nitrate (bY Formic acid
DE'E DS P87

(e) Citric acid (d) Oxalic acid
M(e35mRHL &P O5TaE

50. Ethanal reacts with alkali to give 3-Hydroxybutanal. The reaction is
AGrS 5E80E° By TT0BIYPE B-1PGS) 2ogorrd IR, e By

{a) Polymerisation (b) Claisen condensation
288500889000 Em&‘aﬁﬁ RHOHHED

(c) Aldol condensation (d) Sand Mayer's reaction
€36 DOAWDIRN Arob Doahb B

51. Which of the following tests is not given by acetone?

1808 TS deS R AN SBgen

(a) Schiff's reagent test (b) Tollen's reagent test
)P SU8E 584, 5B o8 H8%

(¢} Fehling's solution test (d) All of the above
2owdoh mrHes D0 22 @y

Test No. 04 Yrati
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52. The name of the compound

ool

Sa ;’J'i)é#é:m GB008), TR0

(a) Benzvle Benzoate (b) Phenv] Benzoate
BoBS Bod DeS PO Bod'DeS

(c) Phenyl Phenylacetate (d) Benzyl Phenolate
536 56 IDBS B0BS HTBeS

53. The Number of degrees of freedom for a gaseous system is
TOSVDFIRED G0% Ao IBE Sos

(a) 2 (b)y 3 ) 0 (d) 1

54. The phase rule for a two component system with solid-liquid equilibria can be
written as

PDITFI0 - EIITBAD e 2AS® Moot Bgrveot SR Jrdodo @9y

DARH8H0
(a) F=C-P+2 () P+F=C-2
(c)p P+F=C+1 d P+F=C-1

50.  In water system at triple point the number of degrees of freedom is
Ve HPORS” (BEDOHY 5 KsBod SB0Bve BN

(a) 1 (b) O e 2 (d) 3

56. Which is not correct for catalyst? It
£oB TE" &@)BE5015 Sowofod SBEHE 98 5o |y 5580)

(a) Enhance the rate of reaction in both direction
B0y BFad B SoPEDH00M0 DoBdaRo

(b) Changes enthalpy of reaction
D5 E), TR DI

(c) Reduces activation energy of reaction
WOy Q) aBBBTED BRow

(d) — Specific in nature

DOV Lﬁéégﬁn

13 , (Test No. 04)
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aT.

59,

60.

(Test No. 04)

Which statement about Enzvmes 1s not correct?
JD@EJE: DH0%06° D8 200308 527
(a) Enzvmes are in colloidal state

doBoen §Terané Y8E° Goeran
(b) Enzymes are catalysts

JOF0e0 dFHEED0enT S0BJe0
(c) Enzymes can catalyse any reaction

D DHEFE PT° JOF0E0 GEHSERVEVNT® HDWe000
(d) Urease 1s an Enzyvme

007800 E @0HE .k JoBad

The unit and value of rate constant and that of rate of reaction are same for
D DoPoERD BoBay Doy DB BE), AL HHBEL Devden BIS BBITHHN

el OliIn)

(a) First order (b) = Zero order
|20 [BRTrosaw RIAT?) (S2IP0ER0)
(c) Second order (d)  All are wrong
Behad FHreo¥am 2 eRain Hdpen

FFor the reaction H,(g) + Br,(g) = 2HBr (g) the reaction rate = K[H, ][Br, ]H'
Which statement is true about this reaction ?

He (%) Br: (37) ¥ 2HBr (37) o $58% So@dido = K[H,][Br,]%. @08
TRES” e 5% B HBEHHB?

(a) The reaction 1s of second order (b) Molecularity of the reaction is 3/2

e DO Bedodd 153708 585 e D5 eeEB 3o
(¢) The unit of K is se¢! (d) Molecularity of the reaction is 2
K @Bao¥), cloorae) g0 B¢ D5 VEVES 2

The reaction A — B follows first order kinetics. The time taken for 0.8 mole of

A to produce 0.6 mole of B 1s 1 hour. What is the time taken for conversion of
0.9 moles of A to produce 0.675 mole of B?

A - B &3 085 (55 (530708 H85 0.8 Iomeow A 0.6 Iewe B D 25500605 5638
SPR 28 Kot @owd 0.9 rene A 0.675 drreve B 9 55598508 Jod stedn

DE3Ir07?

(a) 1 hour (b) 0.5 hour
a5 Moty 0.5 fotd

(c) 0.25 hour (d) 2 hours
0.25 Ao 2 Hoboen

www.eenadtipratibha.net
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bl.

62.

63.

64,

65.

66.

SECTION C

Effective Atomic Number of Cr*" in the complex ion [ Cr(NH. ), 1** is
[Cr(NH,)6]™" S033 0dires” Cr Bu¥), -erd¥ S85ren So

(a) 35 (b) 36 (c) 33 (d) 54

Metals exhibit oxidation state in carbonyls
ST Re0ed” SN GnY), 65580 1S

(a) +1 (b) -1 () -2 (d) 0

Which of the following complex is a non-electrolyte in solution?

808 S0BJ50eS” B [ErHean Dy AFEIFI 576
(a) [Pt(NH,). ]Cl, (b) |[Co(NH,), Cl, ]Cl

© [Pt(NHy),Cl, ] (d > [Pt (NH,), Cl, |Cl

|:"53131[I*~IH,jl}f,l.fl]]E-i:-‘1 and [En{HHEJE So. |Cl are
[Co(NH,),Cl ] So, %:8a5n [Co(NH.,): So, |Cl ek

(a) Gec}metl:ical Isomers (b) Optical [somers
SEc YT EyDEd AetSyFmge0

(¢) Ligand Isomers (d) JTonmisation Isomers
Brros AedyFegen ADIEGE W yTegen

Among the following complex 1ons which one has the highest paramagnetism
1208 DOBR 3057 006" D8 @85S J0° 0LVm, 0 SR el

@ [Cr 0% ] (b) [ Fe(H,0), |**

(c) [Gu (H,0), ]E"L (d) [Eu (H,0O), ]E+

Which of the following 1s a Flexidentate ligand?
1208 706" 08 ;ﬁ}amﬂﬁ Srrok

(a) Cl (b) CO (¢ CN (d) EDTA

15 | (Test No., 04)
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67.

638,

69.

(Test No. 04)

The Magnetic moment of the complex K. [ Fe(CN), ] 1S
K, [ Fe(CN), ] G300, @030Ae),08 (gTPR0E00 Jend

(a) 1.73 BM (b) 2.83 BM
(¢) 3.87 BM d) 5.92 BM

The CFSE value of [ CoCl, |*” is
[ CoCl P~ @), CFSE 2end

(a) -0.8A, (b) —-24A, ©) —0.4A5 (d) -1.2A,

The magnitude of crystal field splitting in different complexes
D050 JoSPBweS” 9 BB Jgfesd SBIITeIRw
(a) A, >A;>A, (b)" Ag>A_ >A,

() A, >Ay>A, (d) A >A, >A,

The Inner orbital complexes are generally formed by

058 es83e5°¢ D0830000 FTEEEIIIIT D JOR DR

(a) Strong ligands (b) Weak ligands
200D Brroken EJEJ-EJ"’FﬂEEﬁﬁ Srroken
(c) Neutral ligands (d) All of these
Hevs) Srroben G TG0 DO

Which of the following ligands produce a high crystal field splitting?
808 Brrobed’ etsBs dmds B deadtn SeorBainss

(a) (No; (b) Co (c) CN- (d) NHa
(ilveine consists of number of methvlene groups

Eﬁﬁﬁﬁ &0t GO HRTTTFERLe Do

(a) 1 (b) 2 (@) 3 d) 4

www.eenadupratibha.net
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73. Milk sugar s

ey 58), 8 SR

(a) Glucose (b) Sucrose
KrS'S DES

(¢) Lactose (d) Fructose
] ]

74. o—glucose and f-glucose are a pair of

:I—ﬁ: 5°8, ﬁ-ﬁa?ﬁﬂl} 2,523

(a) Tautomers (b) Epimers
eSS0 880 JaHbew

(c) Anomers (d) Enantiomers
DR 2080 FHDGDBHen

=5 Which one of the following compounds participates in Diels-Alder reaction?

208 SAysred” 28 6)-ugh 585" S 72

(a) Pyridine (b) # Furan
2BES ‘Q}éﬁ‘s
(c) Pyrrole (d) Thiophene
:}Lgsé BDBID
76. One mole of a-glucose reacts with moles of to form one mole
of osazone
2.t AIen u-—ﬁfﬁ‘sﬁ, P~ b el b I a‘:ﬁaﬁ‘mﬁ ¥ Ard Lad o
DBH0R
(a) 1, Ph NHNH: (b) 2, Ph NH:
(¢) 3, Ph NHNH: (d) 3, Ph NH:
77. Chichibaban reaction uses and
D020 DS B0Bas 0R) GHBIRI
(a) Pyrrole, NHs (h) Pyridine, NHs
2665, NHa %885 NH;
(c) Pyrrole, NaNH: (d) Pyridine, NalNH-
H6°S, NaNH: 288~ NaNH:
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80.

81.

The substance formed when succinimide 1s heated with zinc dust 15

28,020 ER BoH FrEE DE DRI B DHHE

(a) Pyrrole (b)Y Furan
25°S @,513"5

(c) Tetrahydropyrrole (d) Tetrahydrofuran
BerrEDE'S BT IE DTN

In a galvanic cell consisting of zinc electrode and copper electrode

2ok JE.:-LEQE, 5°50 ;JEJEE £HAD megds S0ty

(a) Chemical energy is converted into electrical energy
BRr030R B8 Do BEMT DBIBL08

(b) Electrical energy is converted into chemical energy
D56 #8 SReadd FEMT HBr8008

(¢) Chemical energy is converted into Thermal energy
B-a0R B8 el w8 Arrdoduod

(d) Thermal energy is converted into [lectrical energy
&3 %8 Doy B8 DBl

Ruffs degradation is used to effect the following conversion
59 AITERS D850 ) Hr8y) DaHeHd &SATRCBEN

(a) Arabinose — Glucose (b) Glucose — Arabinose
w5DS'E - KR KrE'E — e80S'S

(c) Glucose — Fructose (d) Fructose —» Glucose
ﬂggﬁﬁ —» @%5 L:Js;é — ﬂ{:ﬁi &

The Standard Reduction Potential for Fe?*| Fe and Sn*'|Sn electrodes are
~0.44 V and =0.14 V respectively. For the cell reaction Fe? +8Sn — Fe +Sn*

the standard e.m.f. 15

Fe | Fe ©08a%n Sn** | Sn deo§ e [Harre Sosten Dogd FEHVED SBDM

044 V 58c5n —0.14 V mand Fe™ +8n —» Fe+Sn™ o Dghy (DRI e.m.f.

e

(a) +030V (b) —0.58V © +058V d) —0.30V

(Test No. 04) 18
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82. According to Kohlrausch's law of independent migration of lons
£°S0ri oI ©05800 ediree HgBod HePHHD

@ A=k +X. ®) A=Ak -\
(c) A,.= A, -4, (d) All are correct
e DBAHD

83. According to Debye-Huckel theory the speed of an ion in an electric field is
GR-I8S VeroBDn (D550 HEBEBOS” .8 eaird BAH0

(a) Increased
M0

(b) Decreased
éfg:-‘&.l
(c) First increases and then degreases

20 DR BTG B0

(d) Not effected
ST Dodidh

84. Which of the followings a Weak eletrolyte?
1208 DS wedrd ﬂ:ﬁ&éﬁﬁﬁﬁ :JE‘EEUE?

(a) HF (b) -HCI (c) HBr (d) HI

85. Ostwald dilution law 18 applhcable
SNT DOD DALBD B3 HBoBIR?

(a) Only to strong eletrolytes
20D DB STED0H BB
(b) Only to weak electrolytes
g et
ROIIWR DE3BGED ITES0eHd JrE
(c) To strong as well as weak eletrolytes
2020 208010 BOTHRD HEIAE STFI0L

(d) Not applicable to electrolytes
DBFBE D STFI0eL 580Dy

19 (Test No. 04)
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86. The lon that cannot be precipitated by both HCI and H:S 1s
HCI 308050 HaS H0d e58dodaid edirs

(a) Pb (b) Cu* () Ag* (d) Sn*

87. One of the following compounds gives a white precipitate with aqueous AgNos

and a green flame test. The compound 1s

1208 ﬁ&éﬁm;'}uﬂeﬁ{ 2,53 AgNoy zoprdmod 30d ©5gHHwe Dboiy &g

SBES® K059 Y0EgeR0 ool BaoR oD e JapFHnu
(a) NaCl (b) Kel - (c) BalCl: (d)y CaCls

88. d and m-tartaric acids are examples of

d 08050 m-erTrBsTinnaen DRl aoirde

(a) enantiomers (b} diastereomers
RHQBIHEED G QBB HatHen
(c) tautomers (d) metamers
e e oeTHosen

89. The number of phases in a mixture of Oz, Nz and H20 will be
0s, N2 508050 H20 oEawds” ERSTSERMEEYS

(a) O (h) 1 () 2 (d) 3

90. The number of moles of KMnO4 that is required to react completely with one

mole of Ferrous Oxalate in acidic solution

28 Drren HIED efBSS® eny ErRndnd” Frr TS sHend KMnO:

arTeyen)
(@) ) % (b) 3 © Y (d) 1
(Test No. 04) 20
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21.  Which one of the following is a state property?

Eo8 T°06&" R SloRNlal

(a) Heat (b) Work
G100 D

(c) Internal energy (d) Potential enercy
©0BSHEE 2B%E

92. When Q is the heat supplied and W is the work done by the system then
REHT" BaDHED &0 Q ©oHHIPES e DR WaR &R W e

(a) AE=Q+W b)) AE=Q-W

(¢ AE=W-Q (d) [AE=-Q-W

93. The decay period of Fluorescence is
2883 (Fluorescence) G0E), Sessmesn

(a) 10~* — 100 seconds (b)Y 100 — 200 seconds
() 0 —10"" seconds (d) 10— 20 seconds

94.  Which of the following exhibit phosphorescence?
508 TS PodmBesdyido 968038

(a) CrCls (b) FeSoy (c) ZnS (d) AgNos

95. Which of the following reaction is having High Quantum vield?
508 H8506" DO BEE 5250608 BHE &081087

(a) 2HBr — H, +Br, (b) 2HI-H, +1,
(¢) 2NO, -2NO+0, (d) 2NH, - N,+3H,

96. Acetamide reacts with NaOBr in alkaline medium to form
58 AIrdEREG” JdewwE NaOBr & D85 STOBRTPE JEYEIDE?

(a) NHs (b) CHaNH- (c) CHasCN (d) CHsCH:NH:

21 (Test No. 04)
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97.  Which of the following is hydrolysed to give secondary amine?
508 TS” B ee IBIS® DEoEB DS DELR?

(a) Alkyl cvanide (b) Nitro alkanes
es8), S D& DES° ey e

() Acid amide (d) Dimethyl Formamide
&) & GPS FGDE

98. The correct order of the Increasing Bascity of Methylamine. Ammonia and
Anline 1s

PS DS, BATYAT, IVOSOS® B JgErHan DEA Edw
(a) Methylamine < Aniline < Ammonia
(b) Methylamine < Ammonia < Aniline
(c) Aniline < Methylamine < Ammonia

(d) Aniline < Ammonia < Methylamine

99. Which of the following carbohydrate is most abundant in nature?

£oB 55 rEees” I8 (H5)8E" e O500E0 B2

(a) Glucose (b) Fructose
Kns's K]

() Starch (d) Cellulose
"'EE::] :}Euéﬁaﬁ-

100. On heating glucose with Fehling's solution we get a precipitate whose colour is

K§°Ew0 Dondofl @rdessnd® D& I205ped DA eSESS) Ba¥), BoiHd

(a) Yellow (b) Red
kel A To i)

(¢)  Black (d) White
eed) 11T

(Test No. 04) 29 .
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